LSP#HZ

Is
2 L
(K) L1 | (K)
s = MA MB Mc
: /\ /—\
T HH ] i HH
T, | b L
M ® ‘ T [ ] 1] (@) (@]
:;‘ @ ) ! hd @ ? e M @ H) © —
| L. _
@ d1 o o
(K)
BT mm
RS IIE N—Z & BIEFEE— XYM BEARFEIREE 5 B
N BRA = & =T RS
HURZE Ma,Ms Me G Co
AhO—2 | M T L (K) B F Sx¢ W, H diXd2Xh Lo fi g
ls +0.25 N-m N-m N N
LSP 1340 15 13 125 40 1 11 30 M3 X5 12.2 7.7 3.3X6X3.3 40 30 0.88 0.49 68.6 118 37
LSP 1365 25 13 12.5 65 1 11 55 M3 X5 12.2 7.7 3.3X6x%x3.3 65 55 1.76 0.98 118 206 60
LSP 1390 50 13 125 90 1 1 80 M3 X5 12.2 7.7 3.3X6X%x3.3 90 80 3.04 1.27 157 275 85
LSP 2050 25 20 18.3 50 1.5 20 85) M5x 8.2 22.3 11 5.3x9x5.3 50 85) 1.37 2.25 157 284 114
LSP 2080 50 20 18.3 80 1.5 20 65 M5 X% 8.2 22.3 11 5.3X9x%x5.3 80 65 3.53 4.51 304 559 184
LSP 20100 75 20 18.3 100 1.5 20 85 M5Xx8.2 223 11 5.3Xx9x%x53| 100 85 5 5.69 392 706 231
LSP 25100 50 25 24 100 1.9 35 75 M5x 8.5 38 158 |5.3x9x5.3| 100 75 9.22 14.5 588 1069 433
LSP 25125 75 25 24 125 1.9 35 100 M5 X 8.5 38 158 |5.3Xx9X%X5.3| 125 100 129 18.1 735 1333 547
LSP 25150 100 25 24 150 1.9 35 125 M5x8.5 38 158 |5.3X9x%x5.3| 150 125 175 21.9 882 1598 652
) MaMe.Mcld ERICRT KD ICRTA T 1HEDBEDHFEFTE—XY METT,
BRIV O—REFFTIZHILB AT .
N9-8 Rl BOREZREL C< L) https://tech.thk.com AR BN9-9

ey A—NL=n .




